Efficiency vs Dxy(PV)

efficiency vs dxy(PV)
o

0.4

0.

©

o
e

-

H -

B EEE

)5 =20-15-10 -5 0 5 10 15 20 25

TP dxy(PV) (cm)

—=— DQM_mkFit_TToriginal
—— DQM_mKFit_TT_pL
—— DQM_mkKFit_TT_pLW

Efficienc]

— DQM_mkFit_TT_pLW_IMP

efficiency vs dxy(PV)

0.95

h!

02040608 1
TP dxy(PV) (cm)

Efficiency vs Dz(PV)

S T e T e I
& : : : : :
N I N
L L4
20.8—"""""""' e
> F :
[9) .
= I .
2 L .
£ 0.6fcrutrenetes B R R CLECT EEPE
3} .
7 SRRSO S| SORE SO S
[ I I I I I
o+ .
T .
o :
|| SEEEEESEEEEE R L AR EEEEE

=30 -20 -10 0 10 20 30

TP dz(PV) (cm)

Efficiency vs Dz(PV)

efficiency vs dz(PV)

o
e

1.

o
)

o
»
T

N
T
¥
8
]

0.5 1
TP dz(PV) (cm)




	Contents
	Page 1


